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Q.1 The Young's modulus of a material of wire is
12.6 × 1011 dyne/cm2 . Its value in MKS
systemis:
(A) 12.6 × 1012 N/m2

(B) 12.6 × 1010 N/m2

(C) 12.6 × 106 N/m2

(D) 12.6 × 108 N/m2

Q.2 A particle is moving eastward with a speed of
5 m/s. In 10 s the velocity changes to 5 m/s
northwards. The average acceleration in this
timeis
(A) zero.

(B)
2

1
m/s2 towards north-west.

(C) 1/2 m/s2 towards north-west.
(D) 1/2 m/s2 towards north.

Q.3 A grasshope jump maximum distance1.6m. It
spends negligible time on the ground. How far
will go in 10 seconds ?

(A) 5 2 m (B) 10 2 m

(C) 20 2 m (D) 40 2 m

Q.4 Can an objectmaintain uniform velocitywhen
its acceleration is not zero?
(A) no, impossible
(B) yes, but only if the acceleration is in the
direction of the velocity
(C) yes, but only if the acceleration is opposite
to the direction of the velocity
(D) yes, if the acceleration is perpendicular to
the velocity.

Q.5 A uniform thick string of length 5 m is resting
on a horizontal frictionless surface . It is pulled
by a horizontal force of 5 N from one end .
The tension in the string at 1m from the force
applied is :
(A) zero (B) 5 N
(C) 4 N (D) 1 N

Q.6 The lengthofa secondshand in awatch is1cm.
Themagnitudeofchange invelocityof its tip in
15second is :

(A) zero (B) /30 2 cm/s

(C) /30 cm/s (D)  2 /30 cm/s

Q.1 ,d rkj ds inkFkZ dk ;ax xq.kkad 12.6 × 1011

dyne/cm2 gSA MKS i)fr esa bldk eku gS
(A) 12.6 × 1012 N/m2

(B) 12.6 × 1010 N/m2

(C) 12.6 × 106 N/m2

(D) 12.6 × 108 N/m2

Q.2 ,d d.k 5 m/s dh pky iwoZ dh vksj xfreku gSA
10 s esa] osx cnydj 5 m/s mÙkj dh vksj gks tkrk
gSA bl le; esa vkSlr Roj.k gS
(A) 'kwU;

(B)
2

1
m/s2 mÙkj&if'pe dh vksj

(C) 1/2 m/s2 mÙkj&if'pe dh vksj
(D) 1/2 m/s2 mÙkj dh vksj

Q.3 ,d fVM~Mk vf/kdre 1.6m nwjh dwn ldrk gSA ;g
/kjkry ij ux.; le; fcrkrk gSA ;g 10 lSd.M
esa fdruh nwj tk;sxk ?

(A) 5 2 m (B) 10 2 m

(C) 20 2 m (D) 40 2 m

Q.4 D;k dksbZ oLrq ,dleku cuk;s j[k ldrk gS tc
bldk Roj.k 'kwU; ugha gS \
(A) ugha, vlEHko
(B) gk¡, ysfdu dsoy rHkh ;fn Roj.k osx dh fn'kk
esa gks
(C) gk¡] ysfdu dsoy rHkh ;fn Roj.k osx dh fn'kk
ds foijhr gksA
(D) gk¡] ;fn Roj.k] osx ds yEocr~ gksA

Q.5 5 m yEch ,d le:i eksVh Mksjh ,d {ksfrt ?k"kZ.kghu
i`"B ij fojke ij gSA bls ,d fljs ls
5 N ds {ksfrt cy }kjk [khapk tkrk gSA vkjksfir
cy ls 1m ij Mksjh esa ruko gS
(A) 'kwU; (B) 5 N
(C) 4 N (D) 1 N

Q.6 ,d ?kM+h esa lSd.M dh lqbZ dh yEckbZ 1cm gSA 15

lsd.M esa bldh uksad ds osx esa ifjorZu dk ifjek.k
gS

(A) 'kwU; (B) /30 2 cm/s

(C) /30 cm/s (D)  2 /30 cm/s
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Q.7 Which of the following forces is not
conservative?

(A) ĵ4î3F 


(B) ĵ4î3F yx 


(C) ĵ4î3F xy 


(D) ĵ4î3F 22 yx 


Q.8 The densityof a non-uniform rod of length 1m
is given by (x) = a(1 + bx2)
where a and b are constants and 0  x  1.
The centre of mass of the rod will be at

(A)
)b3(4

)b2(3




(B)

)b3(3

)b2(4





(C)
)b2(4

)b3(3




(D)

)b2(3

)b3(4





Q.9 Given that a force F


acts on a bodyfor time t1

and displaces the body by d


. In which of the
following cases the velocity of the body must
increase ?
(A) |F| > d (B) |F| < d

(C) d̂||F̂ (D) d̂F̂ 

Q.10 The centre of mass of a solid cone along the
line from the centre of the base to the vertex is
at
(A) one-fourth of the height
(B) one-third of the height
(C) one-fifth of the height
(D) None of the above

Q.11 Theaccelerationtimegraphofaparticlemoving
along a straight line is as shown in figure.At
whattimetheparticleacquiresitsinitialvelocity?

4
t(s)

10

O

a(m/s )2

(A) 12 s (B) 5 s
(C) 8 s (D) 16 s

Q.7 fuEu esa ls dkSulk cy laj{kh ugha gS ?

(A) ĵ4î3F 


(B) ĵ4î3F yx 


(C) ĵ4î3F xy 


(D) ĵ4î3F 22 yx 


Q.8 1m yEckbZ dh ,d vle:i NM+ dk ?kuRo
(x) = a(1 + bx2) }kjk fn;k tkrk gS] tgk¡ a o b

fu;rkad gSa rFkk 0  x  1 gSA NM+ dk nzO;eku&dsUnz
fdl ij gksxk\

(A)
)b3(4

)b2(3




(B)

)b3(3

)b2(4





(C)
)b2(4

)b3(3




(D)

)b2(3

)b3(4





Q.9 fn;k gS fd ,d cy F


, le; t1 ds fy, ,d oLrq

ij dk;Z djds mls d


foLFkkfir djrk gSA fuEu esa
ls fdl fLFkfr esa oLrq dk osx c<+sxk \
(A) |F| > d (B) |F| < d

(C) d̂||F̂ (D) d̂F̂ 

Q.10 ,d Bksl 'kadw ds vk/kkj ds dsUnz ls 'kh"kZ rd dh js[kk
ds vuqfn'k bldk nzO;eku&dsUnz gS
(A) ,d pkSFkkbZ Å¡pkbZ ij
(B) ,d frgkbZ Å¡pkbZ ij
(C) Å¡pkbZ ds ik¡pos Hkkx ij
(D) mijksDr esa ls dksbZ ugha

Q.11 ,d ljy js[kk ds vuqfn'k xfreku ,d d.k dk
Roj.k&le; vkjs[k fp= esa iznf'kZr gSA fdl le;
ij d.k bldk izkjfEHkd osx izkIr djrk gS \

4
t(s)

10

O

a(m/s )2

(A) 12 s (B) 5 s
(C) 8 s (D) 16 s
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Q.12 A particle is projected vertically upward with
initialvelocity25m/s.Foritsmotionduringthird
second, which of the following statement is
correct?
(A) Displacement of the particle is 30 m
(B) Distance covered by the particle is 30 m.
(C) Distance covered by the particle is 2.5 m
(D) None of these

Q.13 Three identical uniform rods of the same mass
M and length L are arranged in xy plane as
shown in the figure. Afourth uniform rod of
mass 3M has been placed as shown in the xy
plane. What should be the value of the length
of the fourth rod such that the center of mass
of all the four rods lie at the origin?

(A) L ( 122  )/3 (B) 2L

(C) L( 12  )/3 (D) 3L

Q.14 A blockrestson a rough inclined plane making
an angle of 30° with the horizontal. The
coefficient of static friction between the block
and the plane is 0.8. If the frictional force on
the block is 10 N, the mass of the block (in
kg) is (take g = 10 m/s2)
(A) 2.0 (B) 4.0
(C) 1.6 (D) 2.5

Q.15 Two bullets are fired at angles  and 90 – ,
the ratio of their time of flights is :
(A) 1 : 1 (B) tan : 1
(C) 1: tan (D) tan2 : 1

Q.12 ,d d.k dks 25 m/s ds izkjfEHkd osx ls Å/okZ/kj
Åij dh vksj iz{ksfir fd;k tkrk gSA rhljs lSd.M
ds nkSjku bldh xfr ds fy;s] fuEu esa ls dkSulk
dFku lgh gS \
(A) d.k dk foLFkkiu 30 m gSA
(B) d.k }kjk r; nwjh 30 m gSA
(C) d.k }kjk r; nwjh 2.5 m gSA
(D) buesa ls dksbZ ugha

Q.13 leku nzO;eku M o yEckbZ L dh rhu le:i
,dleku NM+sa fp= esa n'kkZ;s vuqlkj xy ry esa
O;ofLFkr gSaA 3M nzO;eku dh ,d pkSFkh le:i
NM+ xyry esa n'kkZ;s vuqlkj j[kh xbZ gSA pkSFkh NM+
dh yEckbZ dk eku D;k gks fd pkjksa NM+ksa dk
nzO;eku&dsUnz ewy&fcUnq ij gks \

(A) L ( 122  )/3 (B) 2L

(C) L( 12  )/3 (D) 3L

Q.14 ,d CykWd {ksfrt ls 30° dks.k cukus okys ,d
[kqjnjs vkur ry ij fojke ij gSA CykWd o ry ds
chp LFkSfrd ?k"kZ.k xq.kkad 0.8 gSA ;fn CykWd ij
?k"kZ.k cy 10 N gS] rks CykWd dk nzO;eku (kg esa) gS
(g = 10 m/s2ysa)
(A) 2.0 (B) 4.0
(C) 1.6 (D) 2.5

Q.15 nks xksfy;k¡  o 90 – dks.kksa ij pyk;h tkrh gSa] rks
muds mMM~;udkyksa dk vuqikr gS :
(A) 1 : 1 (B) tan : 1
(C) 1: tan (D) tan2 : 1
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Q.16 Aball rolls throughahollowfixedsemicircular
tube lying flat on a horizontal tabletop. Which
diagram best shows the path of the ball after
emergingfromthetube,asviewedfromabove?

(A) (B)

(C) (D)

Q.17 A body of mass m released from a height h on
a smooth inclined plane that is shown in the
figure. The following can be true about the
velocity of the block knowing that the wedge
is fixed.

(A) v is highest when it just touches the spring
(B) v is highest when it compresses the spring
bysome amount
(C) v is highest when the springcomes back to
naturalposition
(D) none

Q.18 Aprojectileofmassmis thrownwithavelocity
vmakingananglewiththehorizontalasshown
in figure. Neglectingair resistance, the change
in momentumfrom its departureAto its arrival
at B is :



v

B

(A) 2 mv sin (B) 2 mv
(C) 2 mv sin(/2) (D) 2 mv cos(/2)

Q.19 Aprojectile is thrownhorizontallywitha speed
of 20 m s-1. If g is 10 m s–2, then the speed of
the projectile after 5 second will be nearly :
(A) 0.5 m s–1 (B) 5 m s–1

(C) 54 m s–1 (D) 500 m s–1

Q.16 ,d xsan ,d {ksfrt Vscy VkWi ij lery j[kh ,d
[kks[kyh fLFkj v/kZo`Ùkh; ufydk esa ls yq<+drh gSA
dkSulk fp= Åij ls ns[kus ij uyh ls fudyus ds
ckn xsan ds iFk dk loksZÙke fu:i.k gS \

(A) (B)

(C) (D)

Q.17 m nzO;eku ds ,d CykWd dks fp= esa n'kkZ;s vuqlkj
,d fpdus vkur ry ij h Å¡pkbZ ls eqDr fd;k
tkrk gSA Kkr gS fd ost fLFkj gS] rks CykWd ds osx
ds ckjs esa fuEu ls dkSulk lR; gks ldrk gS \

(A) v mPpre gksrk gS tc ;g Bhd fLizaax dks Nwrk
gSA
(B) v mPpre gksrk gS tc ;g fLizax dks FkksM+k&lk
lEihfM+r djrk gSA
(C) v mPpre gksrk gS tc fLiazax okil viuh ewy
fLFkfr esa vkrh gSA
(D) dksbZ ugha

Q.18 m nzO;eku dk ,d iz{ksI; fp= esa n'kkZ;s vuqlkj
{kSfrt ls dks.k cukrs gq;s v osx ls Qsadk tkrk gSA
ok;q izfrjks/k ux.; ekfu;s] rks Als blds iz{ksi.k ls
B ij blds igq¡pus rd laosx esa ifjorZu gS :



v

B

(A) 2 mv sin (B) 2 mv
(C) 2 mv sin(/2) (D) 2 mv cos(/2)

Q.19 ,d iz{ksI; 20 m s-1 dh pky ls {ksfrtr% Qsadk
tkrk gSA ;fn g = 10 m s–2 gS, rks 5 second

i'pkr~ iz{ksI; dh pky yxHkx gksxh
(A) 0.5 m s–1 (B) 5 m s–1

(C) 54 m s–1 (D) 500 m s–1
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Q.20 A bullet is fired from a gun, then
(A) kinetic energyof the (gun + bullet) system
is conserved
(B) Momentum of gun is conserved
(C) Momentum of bullet is conserved
(D) Momentum (gun + bullet) system is
conserved

Q.21 Postulate of kinetic theory is
(A)Atomis indivisible
(B) molecules have considerable volume
(C) there is no influence of gravity on the
molecules of a gas
(D) none of the above.

Q.22 Whichof thefollowingrepresentationsofatom
is incorrect ?

(A) F19
9 (B) N7

14

(C) O16
8 (D) C12

6

Q.23 The ionic radii of isoelectronic species N3–,
O2– & F¯ in Å are in order:
(A) 1.36, 1.40, 1.71 (B) 1.36, 1.71, 1.40
(C) 1.71, 1.40, 1.36 (D) 1.71, 1.36, 1.70

Q.24 How many moles of electron weight one
kilogram

(A) 6.023 × 1023 (B)
108.9

1
× 1031

(C)
108.9

10023.6 54
(D)

023.6108.9

1


× 108

Q.25 The van der Waal's equation for a real gas is

(A) 









2v

a
p (v-b) = nRTT

(B) 









2

2

v

an
p (v-b) = nRTT

(C) 









2v

a
p (v + b) = nRTT

(D) p = 2

2

v

an

)nbv(

nRT




Q.20 ,d cUnwd ls ,d xksyh pyk;h tkrh gS] rks
(A) fudk; (cUnwd + xksyh) dh xfrt ÅtkZ lajf{kr
gksrh gS
(B) cUnwd dk laosx lajf{kr gksrk gSA
(C) xksyh dk laosx lajf{kr gksrk gSA
(D) fudk; (cUnwd + xksyh) dk laosx lajf{kr gksrk
gSA

Q.21 xfrd fl)kUr dh vfHk/kkj.kk gS&
(A) ijek.kq vfoHkkT; gksrk gS
(B) v.kqvksa esa i;kZIr vk;ru gksrk gS
(C) xSl ds v.kqvksa ij xq:Ro dk çHkko ugha gksrk gS
(D) mijksDr esa ls dksbZ ugha

Q.22 fuEu esa ls ijek.kq dk dkSulk fu:i.k xyr gS \

(A) F19
9 (B) N7

14

(C) O16
8 (D) C12

6

Q.23 lebysDVªkWfud Lih'kht N3–, O2– rFkk F¯ dh
vk;fud f=T;k (Å esa) dk Øe gS&
(A) 1.36, 1.40, 1.71 (B) 1.36, 1.71, 1.40
(C) 1.71, 1.40, 1.36 (D) 1.71, 1.36, 1.70

Q.24 fdrus eksy bysDVªkWu dk Hkkj ,d fdyksxzke gksxk

(A) 6.023 × 1023 (B)
108.9

1
× 1031

(C)
108.9

10023.6 54
(D)

023.6108.9

1


× 108

Q.25 okLrfod xSl ds fy, okUMj oky lehdj.k gS&

(A) 









2v

a
p (v-b) = nRTT

(B) 









2

2

v

an
p (v-b) = nRTT

(C) 









2v

a
p (v + b) = nRTT

(D) p = 2

2

v

an

)nbv(

nRT



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Q.26 The secondionizationenergiesofLi,Be,Band
C are in the order
(A) Li > C > B > Be
(B) Li > B > C > Be
(C) B > C > Be > Li
(D) Be > C > B > Li

Q.27 As the temperature increases average kinetic
energyof molecules increases. What would be
the effect of increase of temperature on
pressure provided the volume is constant.
(A) Increases (B) Decreases
(C) Remains same (D) Becomes half

Q.28 The number of atoms present in one mole of
an element is equal toAvogadronumber which
of the followingelements contains the greatest
number of atoms ?
(A) 4g He (B) 46 g Na
(C) 0.40 g Ca (D) 12 g He

Q.29 In [Ag(CN)
2
]–, the number of bonds is

(A) 2 (B) 3
(C) 4 (D) 6

Q.30 Which of the following colours has highest
energy?
(A) Blue (B) Red
(C) Violet (D)Yellow

Q.31 The isotherm obtained for CO is as follows:

P

PV

A

The compressibilityfactor of the gasat pointA
willbe

(A) 









V

b
1 (B) 










V

b
1

(C) 









RT

b
1 (D) 










VRT

a
1

Q.26 Li, Be, B rFkk C dh f}rh; vk;uu ÅtkZvksa dk
Øe gS
(A) Li > C > B > Be
(B) Li > B > C > Be
(C) B > C > Be > Li
(D) Be > C > B > Li

Q.27 tSls&tSls rki c<+rk gS] v.kqvksa dh vkSlr xfrt
ÅtkZ c<+rh gSA fu;r vk;ru j[krs gq, rki dh
o`f) djus ij nkc ij D;k çHkko iM+sxkA
(A) c<+rk gS (B) ?kVrk gS
(C) leku jgrk gS (D) vk/kk gks tkrk gS

Q.28 ,d eksy rRo esa mifLFkr ijek.kqvksa dh la[;k
voksxknzks la[;k ds cjkcj gksrh gSA fuEu esa ls fdl
rRo esa ijek.kqvksa dh la[;k vf/kdre gS \

(A) 4g He (B) 46 g Na
(C) 0.40 g Ca (D) 12 g He

Q.29 [Ag(CN)
2
]– esa]  ca/kks dh la[;k gS

(A) 2 (B) 3
(C) 4 (D) 6

Q.30 fuEu esa ls fdl jax dh ÅtkZ mPpre gksrh gS \

(A) uhyk (B) yky
(C) cSaxuh (D) ihyk

Q.31 CO ds fy, çkIr lerkih; oØ fuEu çdkj gS

P

PV

A

fcUnq A ij xSl dk lEihfM~;rk xq.kkad gksxkA

(A) 









V

b
1 (B) 










V

b
1

(C) 









RT

b
1 (D) 










VRT

a
1
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Q.32 Electronicconfigurationofmostelectronegative
atom is :
(A) 1s2 2s2 2p6 3s1

(B) 1s2 2s2 2p6 3s2 3p5

(C) 1s2 2s2 2p5

(D) 1s2 2s2 2p6 3s2 3p6

Q.33 Which of the following atomic number is
present in f-block
(A) 72 (B) 57
(C) 89 (D) 63

Q.34 Which of the following is correct.

(A)
1s 2s 2p

(B)
1s 2s 2p

(C)
1s 2s 2p

(D)
1s 2s 2p

Q.35 The shape of ozone molecule is
(A) Linear (B)Trigonal
(C) Bent (D) Tetrahedral

Q.36 The correct order of electron affinities of N,
O, S and Cl is
(A) N < O < S < Cl (B) O < N < Cl < S
(C) O = Cl < N = S (D) O < S < Cl < N

Q.37 Thestructureof IF7 is
(A)Trigonal bipyramid
(B) Octahedral
(C) Pentagonal bipyramid
(D) Square pyramid

Q.38 Which of the following sets of quantum
numbers is permitted?

(A) n = 2, l = 2, m = –1, s =
2

1


(B) n = 2, l = 1, m = 2, s =
2

1


(C) n = 2, l = 0, m = 0, s = 0

(D) n = 2, l = 1, m = –1, s =
2

1


Q.32 lokZf/kd fo|qr_.kh ijek.kq dk bysDVªkWfud foU;kl
gS %
(A) 1s2 2s2 2p6 3s1

(B) 1s2 2s2 2p6 3s2 3p5

(C) 1s2 2s2 2p5

(D) 1s2 2s2 2p6 3s2 3p6

Q.33 fuEu esa ls dkSulk ijek.kq Øekad f-CykWd esa mifLFkr
gS&
(A) 72 (B) 57
(C) 89 (D) 63

Q.34 fuEu esa ls dkSulk lgh gS A

(A)
1s 2s 2p

(B)
1s 2s 2p

(C)
1s 2s 2p

(D)
1s 2s 2p

Q.35 vkstksu v.kq dh vkÑfr gksrh gS
(A) js[kh; (B) f=dks.kh;
(C) eqM+h gqbZ (D) prq"Qydh;

Q.36 N, O, S rFkk Cl dh fo|qr cU/kqrkvksa dk lgh Øe
gS
(A) N < O < S < Cl (B) O < N < Cl < S
(C) O = Cl < N = S (D) O < S < Cl < N

Q.37 IF7 dh lajpuk gS
(A) f=dks.kh; f}fijkfeMh;
(B) v"VQydh;
(C) iapdks.kh; f}fijkfeMh;
(D) oxZ fijkfeMh;

Q.38 fuEu esa ls Dok.Ve la[;kvksa dk dkSulk leqPp;
Lohdk;Z (permitted) gS\

(A) n = 2, l = 2, m = –1, s =
2

1


(B) n = 2, l = 1, m = 2, s =
2

1


(C) n = 2, l = 0, m = 0, s = 0

(D) n = 2, l = 1, m = –1, s =
2

1

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Q.39 Equation for Boyle's law is

(A)
V

dV

P

dP
 (B)

V

dV

P

dP


(C)
dT

dV

P

Pd2

 (D)
dT

Vd

P

dP 2



Q.40 If the four tubes of a car are filled to the same
pressure with N2 , O2 , H2 and Ne separately
then which onewill be filled first?
(A) N2 (B) O2
(C) H2 (D) Ne

Q.41 The product of all the real solution(s)
of the equation

2 log9(x – 1) = 2 + 2

)1x(
log


3–

3
log (x–1)is

(A) 3 (B) 4

(C) 40 (D)
3

4

Q.42 If 'b' be the pth term of a G.P., whose
(p + q)th and (p – q)th terms are a (a > 0)
and c respectivelyandalsof(x)=ax2 –2bx+c,
then for all xR
(A) a f(x)  0 (B) a f(x)  0
(C) a f(x) > 0 (D) a f(x) < 0

Q.43 A line inclined at an angle of 135º to the
xaxispasses through the pointA(3,4).There
are two points P and Q on the line such that

AP =AQ = 2 2 . The coordinates of P and
Q are respectively :
(A) (1,  6) and (5, 2)
(B) (1,  6) and ( 5, 2)
(C) (1, 6) and (5,  2)
(D) (1, 6) and (5, 2)

Q.44 Minimum distance between the circles
x2 + y2 = 144 and x2 + y2 – 6x – 8y = 0, is
(A) 0 (B) 2
(C) 7 (D) 17

Q.45 If log1057 = a, log75 = b then log35105 is
equal to
(A) ab (B) (b + 1)a

(C)
ab

1
(D)

)1b(a

1



Q.39 ckW;y fu;e ds fy, lehdj.k gS&

(A)
V

dV

P

dP
 (B)

V

dV

P

dP


(C)
dT

dV

P

Pd2

 (D)
dT

Vd

P

dP 2



Q.40 ;fn ,d dkj dh pkj V~;wcksa dks i`Fkd :i ls
N2 , O2 , H2 rFkk Ne ls leku nkc rd Hkjk tk;s
rks dkSulh V~;wc lcls igys Hkjsxh \
(A) N2 (B) O2
(C) H2 (D) Ne

Q.41 lehdj.k

2 log9(x – 1) = 2 + 2

)1x(
log


3 –

3
log (x – 1)

ds lHkh okLrfod gy@gyksa dk xq.kuQy gS
(A) 3 (B) 4

(C) 40 (D)
3

4

Q.42 ;fn 'b' ,d ,slh xq.kksÙkj Js.kh dk pok¡ in gS]
ftlds (p + q)oas rFkk (p – q)osa in Øe'k% a (a>0)

rFkk c gS rFkk lkFk gh] f(x) = ax2 – 2bx + c gks, rks
lHkh x  R ds fy, gksxk
(A) a f(x)  0 (B) a f(x)  0
(C) a f(x) > 0 (D) a f(x) < 0

Q.43 ,d js[kk] tks x-v{k ls 135º ds dks.k ij >qdh gqbZ
gS, fcUnq A (3, 4) ls xqtjrh gSA js[kk ij nks fcUnq

P rFkk Q bl çdkj gS fd AP = AQ = 2 2 gS,
rks P o Q ds funsZ'kkad Øe'k% gS
(A) (1,  6) rFkk (5, 2)

(B) (1,  6) rFkk ( 5, 2)

(C) (1, 6) rFkk (5,  2)

(D) (1, 6) rFkk (5, 2)

Q.44 o`Ùkksa x2 + y2 = 144 rFkk x2 + y2 – 6x – 8y = 0

ds e/; U;wure nwjh gS
(A) 0 (B) 2
(C) 7 (D) 17

Q.45 ;fn log1057 = a, log75 = b gS, rks log35105

dk eku gS
(A) ab (B) (b + 1)a

(C)
ab

1
(D)

)1b(a

1


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Q.46 LetAand B denote the points of intersection
of the circles x2 + y2 – 6x + 4y = 3 and
x2 + y2 + 4x – 4y = 17. The slope of lineAB,
is

(A)
4

1
(B)

2

1

(C)
4

5
(D)

4

3

Q.47 The pair of lines represented by
4ax2 + 6xy – (a2 + 4)y2 = 0 are perpendicular
to each other for
(A) no values of 'a'
(B) exactly one value of 'a'
(C) two values of 'a'
(D) every real value of 'a'

Q.48 If the largestvalue of x satisfying the equation

5x + x5

40
= 14, is p then 5p is equal to

(A) 2 (B) 4
(C) 7 (D) 10

Q.49 Alinepasses through(2,2)andisperpendicular
to the line 3x + y = 3. Its y-intercept is

(A)
3

1
(B)

3

2

(C) 1 (D)
3

4

Q.50 If the roots of the equation
72x3 – 108x2 + 46x – 5 = 0 are in arithmetic
progression then thedifference between largest
and smallest root lies in the interval

(A) 








2

1
,0 (B) 









2

1
,

2

1

(C) 







1,

2

1
(D) (1, 2)

Q.51 Suppose x and y are real numbers satisfying
the equation x2 + y2 – 22x – 20y + 221 = 0.
The value of x y is
(A) 90 (B) 100
(C) 110 (D) none

Q.46 ekuk A rFkk B o`Ùkksa x2 + y2 – 6x + 4y = 3 ,oa
x2 + y2 + 4x – 4y = 17 ds çfrPNsnu fcUnqvksa dks
fu:fir djrs gS] rks js[kk AB dk <ky gksxk

(A)
4

1
(B)

2

1

(C)
4

5
(D)

4

3

Q.47 4ax2 + 6xy – (a2 + 4)y2 = 0 }kjk fu:fir js[kkvksa
dk ;qXe ,d nwljs ds yEcor~ gS
(A) 'a' ds fdlh Hkh eku ds fy;s ugha
(B) 'a' ds Bhd ,d eku ds fy;s
(C) 'a' ds nks ekuksa ds fy;s
(D) 'a' ds çR;sd okLrfod eku ds fy;s

Q.48 ;fn lehdj.k 5x + x5

40
= 14 dks larq"V djus okys

x dk egÙke eku p gS] rks 5p dk eku gS
(A) 2 (B) 4
(C) 7 (D) 10

Q.49 fcUnq (2, 2) ls xqtjus okyh ,d js[kk ,d vU; js[kk
3x + y = 3 ds yEcor~ gS] rks blds y-vUr%[k.M dk
eku gS

(A)
3

1
(B)

3

2

(C) 1 (D)
3

4

Q.50 ;fn lehdj.k 72x3 – 108x2 + 46x – 5 = 0 ds
ewy lekUrj Js.kh esa gS] rks egÙke ,oa y?kqÙke ewy
ds e/; vUrj dk eku fuEu esa ls fdl vUrjky esa gS

(A) 








2

1
,0 (B) 









2

1
,

2

1

(C) 







1,

2

1
(D) (1, 2)

Q.51 ekuk x rFkk y nks okLrfod la[;k,sa gS tks lehdj.k
x2 + y2 – 22x – 20y + 221 = 0 dks larq"V djrh
gS] rks x y dk eku gS
(A) 90 (B) 100

(C) 110 (D) dksbZ ugha
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Q.52 The value of m for which the triangle formed
by the lines y = 5, y = mx – 6 andy=– mx–6
will beequilateral, is

(A)
3

2
(B) 3

(C)
2

3
(D)

3

1

Q.53 Numberofwholenumbersk forwhich thesum
of the roots of equation 4x2 + k2x + k = 0
is equal to twice the product of the roots, is
(A)infinite (B) 0
(C) 1 (D) 2

Q.54 ABC is triangle with coordinates
A (2, 6), B (0, 0) and C (14, 0). The radius of
the circle passing throughA, B and C is

(A) 52 (B) 53

(C) 25 (D) 35

Q.55 The value of the sum 



88

0

)1(secsec

equals
(A) cosec 1° (B) cot 1°
(C) cosec 1° cot 1° (D) sec 1° tan 1°

Q.56 If , ,  and  are roots of equation
x4 – 7x2 + x – 5 = 0, then the value of
( +  + ) ( +  + ) ( +  + ) (+ + )
is equal to
(A) –1 (B) 1
(C) –5 (D) 5

Q.57 If
r

1
,

q

1
,

p

1
are inA.P. and p and r be different

havingsamesign, then the rootsof theequation
px2 + 2qx + r = 0 will be
(A) real (B) equal
(C) imaginary (D) real and distinct

Q.58 The line x + 3y  2 = 0 bisects the angle
between a pair of straight lines of which one
has equation x  7y + 5 = 0 . The equation of
the other line is
(A) 3x + 3y  1 = 0 (B) x  3y + 2 = 0
(C) 5x + 5y  3 = 0 (D) none

Q.52 m dk og eku] ftlds fy;s js[kkvksa
y = 5, y = mx – 6 rFkk y = – mx – 6 ls fufeZr
f=Hkqt leckgq gS] gksxk

(A)
3

2
(B) 3

(C)
2

3
(D)

3

1

Q.53 mu iw.kZ la[;kvksa k dh la[;k] ftuds fy;s lehdj.k
4x2 + k2x + k = 0 ds ewyksa dk ;ksx] ewyksa ds
xq.kuQy dk nqxquk gks] gksxh
(A) vuUr (B) 0
(C) 1 (D) 2

Q.54 ;fn f=Hk qt ABC ds 'kh"kk s ± d s funs ±'kk ad
A (2, 6), B (0, 0) rFkk C (14, 0) gSa] rks A, B rFkk
C ls xqtjus okys o`Ùk dh f=T;k gksxh

(A) 52 (B) 53

(C) 25 (D) 35

Q.55 ;ksx 



88

0

)1(secsec dk eku gS

(A) cosec 1° (B) cot 1°
(C) cosec 1° cot 1° (D) sec 1° tan 1°

Q.56 ;fn , ,  rFkk  lehdj.k
x4 – 7x2 + x – 5 = 0 ds ewy gks] rks
( +  + ) ( +  + ) ( + + ) (+ +)

dk eku gS
(A) –1 (B) 1
(C) –5 (D) 5

Q.57 ;fn
r

1
,

q

1
,

p

1
lekUrj Js.kh esa gS rFkk p ,oa r

leku fpUg ds fHkUu&fHkUu gS] rks lehdj.k
px2 + 2qx + r = 0 ds ewy gksaxs
(A) okLrfod (B) leku
(C) dkYifud (D) okLrfod rFkk

fHkUu&fHkUu

Q.58 js[kk x + 3y 2 = 0 mu ljy js[kk;qXe ds e/; ds
dks.k dks lef}Hkkftr djrh gS, ftuesa ls ,d dk
lehdj.k x  7y + 5 = 0 gS, rks vU; js[kk dk
lehdj.k gS
(A) 3x + 3y  1 = 0 (B) x  3y + 2 = 0

(C) 5x + 5y  3 = 0 (D) dksbZ ugha
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Q.59 If a = log 503 and c = log 5, then the value of
log 2012 in terms of a and c, is
(A) a + 2c – 2 (B) a + 2c + 2
(C) a – 2c + 2 (D) a – 2c – 2

Q.60 If s = cos2 + cos2, then the value of
cos( + ) cos( – ) in terms of 's', is

(A) s – 1 (B)
s

1s 

(C) s2 (D) 1 – s

Q.59 ;fn a = log 503 rFkk c = log 5 gks] rks a rFkk
c ds inksa esa log 2012 dk eku gS
(A) a + 2c – 2 (B) a + 2c + 2
(C) a – 2c + 2 (D) a – 2c – 2

Q.60 ;fn s = cos2 + cos2 gS] rks 's' ds inksa esa
cos( + ) cos( – ) dk eku gS

(A) s – 1 (B)
s

1s 

(C) s2 (D) 1 – s
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